Name; ___________________________  Date: _______________ Period: _________         Binder # _______


Battle of the Sexes

Problem:  Are girls smarter than boys?

Hypothesis:  _____________________________________________________________________________

__________________________________________________________________

Materials:

· Approximately 13 copies of test A and 13 copies of test B

· Answer key for both tests

· Pencils

· Stop watch

Procedure:

1. The class was split into boys and girls.

2. The girls were given test A and the boys were given test B.

3. The girls were given 4 minutes to complete test A without a calculator and the boys were given 5 minutes to complete test B with a calculator.

4. At the end of the timeframe, all tests were collected and graded.

Observations:

	
	Boys
	Girls

	Average Test %
	
	


Graph:  On the back of this sheet, create a graph for the data collected.

Conclusion: ______________________________________________________________________________

__________________________________________________________________

Errors:

1. How could you improve on the wording of the problem question?

2. Is anything missing from the materials list?

3. What are the errors in the procedure that leads us to this (inaccurate?) conclusion?
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	4 ÷ 1 ÷ 1 
	4

	6 x 4 x 9 
	216

	8 x 6 - 8 
	40

	8 + 10 - 4 
	14

	3 + 1 x 2 
	5

	2 x 10 - 6 
	14

	8 ÷ 3 x 6 
	16

	4 + 4 - 2 
	6
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	-14
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	-7
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	Solve for x

	60x - 16 = 0
	4/15

	5x - 1 = 0
	1/5

	- 37x - 10 = 0
	-10/37

	- 73x + 42 = 0
	42/73

	7x + 1 = 0
	-1/7

	90x - 18 = 0
	1/5

	- 24x - 15 = 0
	-15/24

	39x - 18 = 0
	6/13

	66x + 18 = 0
	6/23

	30x - 24 = 0
	4/5

	- 19x + 56 = 0
	56/19

	8x + 42 = 0
	-21/4

	28x + 16 = 0
	-4/7

	- 23x - 2 = 0
	-2/23

	80x + 64 = 0
	-4/5


Solutions: Battle of the Sexes

Problem:  How does gender influence academic scores on a simple arithmetic test?

Hypothesis:  If both genders are given a simple arithmetic test, then I hypothesize that the marks will be the same and gender will not affect the scores.
Variables and Groups:

Independent Variable: gender

Dependent Variable: scores on an arithmetic test

Control Variables: Same grade level of student, same use of calculator, same timeframe, same tests, all 


tests written individually

Experimental Group: both male and female test takers

Control Group: none
Materials:

· Approximately 26 copies of the arithmetic test

· Answer key for the test

· Pencils

· Stop watch

· Calculators

Procedure:

1. The class was split into boys and girls and placed in a desk where they could not copy off another student.

2. All students were given a copy of the test face down and asked not to turn it over until instructed.  They were also given a pencil and calculator.

3. The students were told they could begin the test.  

4. At the end of the timeframe (4 minutes), the students were asked to place their pencils down and the tests were collected.

5. The tests were then graded and scores were averaged for the girls and the boys.

6. This experiment was repeated an additional 2 times with different students.

Observations:

	Average Test %
	Boys
	Girls

	Trial 1
	74%
	78%

	Trial 2
	79%
	72%

	Trial 3
	82%
	80%

	Average
	78.3%
	76.7%
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Conclusion: I originally hypothesized that gender would not influence the scores on the arithmetic test.  After conducting my experiment, this is approximately what I found.  As the scores were approximately the same, I can conclude that gender does not affect the scores that were achieved on the simple arithmetic test.  Although the boys achieved a slightly higher average of 78.3%, when compared to the average of the girls, which was 76.7%, these are similar enough to say there was a minimal difference.  A possible error might have been the noise level during the test taking.  During one of the tests, lunch was going on and there was a lot of noise just outside of the classroom.  This noise might have distracted one gender more than the other and therefore, if I were to repeat this experiment, I would want to ensure that it was always a quiet environment.
1 – Average Male Score


2 – Average Female Score








